Nl = 0 & Ab Al A
20168 20ilat LetalH 2t P At
SH: BT
HH: 2| (2224
el D128 (et &)
S - I BR(3) - AIRAR - BaS oty e ezl
sHH 4,194,429 4,776,197 A581,768
= 201,313
Il 6,400
= 61,994
[ 3,924,722
dH2IZHI(EB AL 37,940 37,940 0
Jl=&l 33,740 33,740 0
Jl=&H 33,740 33,740 0
201 LEH=2 ] 22,940 22,940 0
01 AtR2t2|H] 20,440 20,440 0
O get=H| 15,400
0 JIZSARES 100,000& *24¢1 2,400
0 AFRID & SAES 12,000,000 12,000
0 JIEt=24| 1,000,000 1,000
O SHI(BIAMDAREF)
7,000 %2401%304 5,040
02 S32gH| 2,500 2,500 0
O SS2aZHA 2,500
0 RERS S 2,500,000 2,500
202 Ol 10,800 10,800 0
01 U0l 10,800 10,800 0
O &2odl(3S34l) 180,000&x5E5&*12& 10,800
lE2AI 4,200 4,200 0
el 2| 4,200 4,200 0
203 BR=LH 4,200 4,200 0
04 ENESS LR 4,200 4,200 0
O PEA=gge=xd 350,000&*12& 4,200
S23ES 587,699 533,332 54,367
= 176,300
= 36,240
= 375,159
$HES 159,699 155,232 4,467
SEES LB 131,049 117,649 13,400
101 21244 28,944 26,784 2,160
04 JIZtH22 RS2+ 28,944 26,784 2,160
O &2, oty M|y
48,2403 %2001+302 28,944
201 fEeL= | 56,405 52,215 4,190
01 At2t2|H 33,405 33,815 2410
O Ze+=8H| 2,775

- 405 -




SN BN
ZH: #HBS
g9 aEes (Er9l: &8
i _ _ M
A -3 - SRA(ZH) - MRAY - BES Ofl &tk Ol] AkoH HwsZ
0 CIOIBHE A=xiFi+==  100,0002+1021 7,000
0 HSX HIETIA SEH o
55,0002 +50 275
0 MHSTHENA PREY ADEDY
4,00020+257445% 500
0 MEDIZHE)| ERYSS KA
1,000,00084%13 1,000
O STH(HILHLS)  7,00024621+702 2,940
O Yx2 26,190
0 B FEIYU 495,00021+23] 990
0 MM S 02t AUCH
150,000 14)H A+ 122 25,200
O WEIASHI| ZMEAE 150,00020+28] 300
O BIEIASEI| ABIIATY
200,00021+23] 400
O HHSZTY| ZMEL2 400,000+13] 400
O WHHI0RSTTY| 2AS42
400,00021+13] 400
02 BB=2H| 23,000 18,400 4,600
O S=2HDI2E I (245lH) 2,300,000 2,300
O MEMYD| 28 S| ZASHIEHRX 20,700
0 M| 2SI Sitiet HESIHB
35,0002+21Ch* 122 8,820
0 M| BHEI| (LT3R SXI2%
90,0002+ 11CH+ 122 11,880
202 o1t 14,400 14,400 0
01 =U0iH| 14,400 14,400 0
O oifl(BBBHYRLH)
200,00021+621+ 122 14,400
203 JEZIH| 4,000 4,000 0
RRNEESSEEESSE] 4,000 4,000 0
O HABNAUTYLET 2 FEHFEES
2,000,002 2,000
O 8IIZNLY2ER 1,000,00024 1,000
OPIECER-E xS 1,000,000 1,000
206 =t 1,200 1,200 0
o1 Mzl 1,200 7,200 0
O D JIASFI| £E7Q 300,0008+25 600
O CO/HC BFIIATY 300, 000242} 600
301 YA 1,350 8,550 AT, 200
11 JIENE A 1,350 8,550 A7, 200
O gH#el 4D By 1,350
PEBIIEELS] 50,0002+102! 500
0 1518 ABAKISIY 35,00021+102! 350
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SN BESIND
M 225
oe: BALS (e =)
3 MNEST -
SA - ZH . GA(SH) - HRAY - B82S Ol &FoH Ol] AkoH HwE2
0 BHZQH:S| Aox 24 50,0002%102] 500
401 Al2HIZL 20| 22,750 10,500 12,250
01 Al 22,750 10,500 12,250
O MEMYD| SYEI| 2K B &
350,00024* 1574 5,250
O M7 S| ZAITHIR £x]
3,500, 00024+5H A 17,500
405 RHAHE S 2,000 0 2,000
01 AL S B FSH| 2,000 0 2,000
O M) SHE)| 28 A U T
o 2,000,00024*14! 2,000
BRWELLYZ 20 Fa 28,650 37,563 18,933
201 YBr2| 26,650 24,762 1,688
01 Ak 22l 9,506 9,306 200
O yergy| 9,506
0 BAMHRES DNA M
70,0002 * 204Xt * 23 2,800
0 BEMLLLD ALDIIA R
70,0002! * 104Xt * 33 2,100
0 DETRAEI| ADE QU(EL)
350,008 * 3l 1,050
0 BAWERLD SII2E L HHLeE
3,000 * 250 21 750
0 BEHLLLD LU 2 S2SSHE
1002 * 4,50004 450
0 BEHLSLD LTI S40H I
55,0002 * 6 0f * 23] 660
0 JMAHT B2 802 * 10,0001 800
0 RSOIF ALB242 502 * 10,0001 500
0 RE0IMKZ44E 33,0002 * 122 3%
02 22| 17,144 15,456 1,688
O Z2R2 ¢ Al 17,144
0 BAMHRES DNAN 2B 17,144
o DXA(HIIR)
3002 * 10,0004 * 23l 6,000
0 DXIA(HIELE) 3002 * 8,0000H * 43| 9,600
0 AEHDEXM(SIN)
1,98020 * 20004 * 43| 1,504
202 01t 2,000 3,000 ~1,000
01 =0T 2,000 3,000 A1,000
O OHI(BRMARLS HgSse L XT)
100,00021%201% 102! 2,000
ECEE 55,000 55,000 0
= 27,500
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SN EBAMD
Hu: SPRS
e CERVE (S92
- _ _ PlEL=
S - ZE - SI(SIH) - HRAIY - BAS 0] apot Sl o HlRE2
= 5,000
2 21,500
SOEEETSE 15,000 15,000 0
= 7,500
2 7,500
201 L2 y| 9,200 9,440 1240
= 4,600
= 4,600
01 AFR 22/t 7,760 8,000 2240
O Jleld 29 2 =X 7,760,0002! 7,760
= 3,880
2 3,880
03 A2 Y| 1,440 1,440 0
O J2leld 29 BAKIS 1,440,002 1,440
= 720
= 720
301 LerEAZ 800 560 240
= 400
2 400
TPIEERS] 800 560 240
O JISHst S22 &4 22 4
40,0002+ 10222 800
= 400
2 400
307 BI2HOI 5,000 5,000 0
= 2,500
= 2,500
02 SR HAGEE 5,000 5,000 0
O J@leld 29 X 5,000,0002! 5,000
= 2,500
2 2,500
EIATOIEH X 40,000 40,000 0
= 20,000
< 6,000
2 14,000
301 LeHEAZ 40,000 40,000 0
= 20,000
= 6,000
2 14,000
TPIEERS] 40,000 40,000 0
O EHATQIER QIMEIS XY 40,000,0008 40,000
= 20,000
< 6,000
2 14,000
NS EPISIE] 168,000 118,000 50,000
= 48,000
2 120,000




SN BASAMD
Ha: BAES
ool SIS A2 (erl: &g
. , - PSEL= =
SA - FH - S2(33) - MPAY - BAS Gl Arod F{ImE=ST
SIS B2 2435t 168,000 114,000 54,000
= 48,000
= 120,000
405 XS4 168,000 114,000 54,000
= 48,000
2 20,000
01 IR =ZF=HI 168,000 114,000 54,000
O IS (3CH) 150,000, 000& 150,000
= 36,000
= 114,000
O ISt SEAIE (ML) 18,000, 000& 18,000
= 12,000
2 6,000
22| ZEH 201,600 201,600 0
= 100,800
= 30,240
= 70,560
ZH0IE HMel XIJAAMS(BEL) 201,600 201,600 0
= 100,800
& 30,240
2 70,560
403 XHXI EHFI S K201 & 201,600 0 201,600
= 100,800
& 30,240
= 70,560
02 B 2-SOICHEHAH=2E CHH AFZ I 201,600 0 201,600
O Za0IE H2l KIBAR(60THA)
201,600, 000& 201,600
= 100,800
= 30,240
i 70,560
Jl e 2 AEEt 3,400 3,500 A100
225 =dEs 3,400 3,500 A100
201 24| 3,400 3,500 A100
01 At22teld| 3,400 3,500 A100
O SASMYI| o FTEES HE
10021 * 225 * 4,5000 900
O 28m D& sEI 7Y
20,0008 » 50F=S 1,000
O 28 iz &9 1 15,000& * 10004 1,500
HSA 25 301,472 414,291 A112,819
= 18,740
p) 6,400
= 13,004
= 263,328
SEEN 89,881 70,198 19,683
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SA: el
M Iged Es
SE RS CSEE (=L
S - - BREH) - MRAR - BaS of vt o HI DS
Jl 6,400
= 83,481
NASHBHAIHFE 79,881 60,198 19,683
101 e121H] 35,306 21,783 13,523
04 JIZtH22 XS 2= 35,306 21,783 13,523
O MES & R 222Y 35,306
0J=2s 48,2403 *1Q1%18JHA+30L 26,050
0 FX=< 48,2403 *121x 18 A6 5,210
0 AHEE 31,260,000 *4% 1,251
0 222 31,260,000 +3.035% 949
0 NE=2E 31,260,0002%1.3% 407
0 =2z 31,260,000& %4 5% 1,407
0 LOIEDIRAESH 949,000&#3.275% 32
201 deL=2 | 20,675 15,875 4,800
01 At22teld] 15,085 10,285 4,800
O Lit==ZH| 6,955
=Rtk 00 66,0002 %307 2 1,980
ZQ#X AMAHE S0
100&x25+4, 5000H 900
0 RN & 2hiE
100,000 %57 2~ 500
HAES FY 5,000 *55+ 1372 325
HUE AKX 7Y
50,0003 *32F A 1300 A 1,950
0 stEalzte] & |X 100,0002 %137 2 1,300
O ==2J| Lo T=Hl XA
120,000& » 25& 3,000
O =N =57 4,500
0 otlpEr &X 2,000,000&+2IH 2 4,000
0 20+ 25,0003 20 500
O 2zl 630
0 SHI(FRUVEA HEDSX 34)
7,0003%321* 30 630
02 5= 5,590 5,590 0
O 3223 2 HAl 5,590
0 =&)| Ot SE TcHX B
130,0002 %25 3,250
0 T&Xl 58 S HelZ&H S8t
130,000 = 33| = 62! 2,340
202 Ol 1,320 1,200 120
01 =LHAOLI 1,320 1,200 120
O OBI(HHEMHACYRFA)
20,0003 +621x11& 1,320
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SN BRI
B Tl 25
ol XoiEAEH (E491: &)
- _ _ PlEL=
SN - 3 - SRA(SIH) - MRAY - BES Oll &+t Ol] AkoH HwE2
206 2| 11,580 10,340 1,240
EE] 1,560 10,340 1,240
O OHS2TEE 227 200,0002+2% 400
O %20 gXg 2 CAX T X9 10,580
0 AlEre 15, 0002143101128t A 5,580
0 25 REH N 200,00024+250! 5,000
O SHJ| OIMES 20122 300,00021%25 600
01 LB FAS 4,000 4,000 0
09 BAAEI 2 &S 4,000 4,000 0
O Ne2S SHRS B84
0,0002! #4001+ 13| 2,000
O NABSCH DSEA
50,0002+ 1001x22 1,000
SMALOIAG BN S 50,00024+200! 1,000
307 BI2F0IF 7,000 7,000 0
04 DIIFAAIIE 7,000 2,000 5,000
O #8179 o +Z2S BAX
2,000,002 2,000
O NHBSHSE HAXI 5,000,002 5,000
RIS AHET 10,000 10,000 0
p] 6,400
2 3,600
301 LBFAS 10,000 10,000 0
p] 6,400
2 3,600
09 EAAUISAS 10,000 10,000 0
SIS 0,000, 000! 0,000
p] 6,400
2 3,600
N ENETE RS 211,591 344,093 A 132,502
= 18,740
= 13,004
2 179,847
OIMES SH2DI6H 24 24,607 30,000 75,398
= 7,382
2 17,225
301 LBHR A 24,607 30,000 £5,393
= 7,382
2 17,225
11 JIEr2 A 24,607 30,000 ~5,3%8
O OHSSsNSIHEAZ 24,607,002 24,607
= 7,382
2 17,25
OFM S ST/ GO AFS 131,200 163,000 £31,800
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SN BT
Ha: Tjeisy 25
ol ORUSAIZES YL (Er9): &)
. PSEL =
S - ZB . CRI(EI) - HIRAY - BES 0] apot e HlRE2
= 78,740
= 5,622
2 106,838
202 01t 1,000 1,000 0
ENE] 1,000 1,000 0
O OH4SS TIGHOIZANIZ 2101 1,000,008 1,000
402 RIRER=0|H 130,200 162,000 £31,800
= 18,740
= 5,622
2 105,838
01 BRIEAEEE 130,200 162,000 31,800
O OSSO AIL I
217,000,000 * 60% 130,200
=2 18,740
= 5,622
2 105,838
ZELEY 29 55,784 151,093 295,309
101 2121 46,229 60,848 A14,619
STEIV = =LES 46,229 60,848 A14,619
EEAPY 425 ol 46,229
07122 48,4091 * 1791 * 392 31,984
ESTERS 48,2402 * 1791 » 92 7,381
0 Sxtt 48,2402 * 1791 » 22 1,641
PUEEE] 41,006,008 * 12.735% 5,223
201 Ler2y| 9,555 59,245 249,690
01 AFR22IH] 9,555 43,645 34,090
O &84BT OHH S50 M
55,0002 * 104 * 11744 605
O c@8+B8% FT4+259 SE7Y(T)),27)
30,0002 * 52 150
O 2UE0I42A OIHY| AIAE 242
500,002 * 574 2,500
O &8+8% M4222X SANS
7,002 * 1501 * 602 6,300
RS TEIEl 102,870 101,770 1,100
= 6,250
2 9,620
PSTEIET 74,870 73,770 1,100
ISTECEEESY 14,330 13,770 560
201 Br2Y| 7,130 6,570 560
01 AFR22IH] 4,970 4,410 560
O et 3,500
0 XIBH-XIBED| QHHS HIE
10024 +4, 00052425 800
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A M
S 2
SRl A2 CERE)
- _ - HEC
2 - F3® - H2A(ZH) - HI2AY - HES 04| AroH ‘Oﬂ}qou Hlus2
0 FOIXIAIA=ZR OHHE HIZ
100,000& * 109HA 1,000
SH&e| Let2Ay| 50,000& * 123] 600
HEDAIZIH=E 2L 1,100
o214 7,000& = 10074 700
o148 4,000& = 10074 400
O SHI(F=H22IE L)
7,000&%301%x704] 1,470
02 3323l 2,160 2,160 0
O 2222 2 HMAl 2,160
0 FOIXIRAIY XEX2AISH| S HES 0F
L2 g&(S00) 1,770€ = 1,100A 1,947
0 Kot QERZ2 213
=l 1,770& = 1021 = 128 213
202 o481 7,200 7,200 0
01 2LHH] 7,200 7,200 0
O OHI(=H22IZ248)
200,000&*3021x12& 7,200
RlEkA A2 Ar|D| ZHAN 60,540 60,000 540
401 Al&HIZ ST 60,540 60,000 540
01 Al&HI 60,000 59,460 540
O EIHIIAL 30,000,000 *2IH A~ 60,000
03 A& 20| 540 540 0
O ZEIRIIAIE 2] 60,000,000 *0.9% 540
Xote=R X2l 28,000 28,000 0
== 6,250
o 21,750
Aot+HS JAa=7 28,000 28,000 0
o= 6,250
iy 21,750
401 AlIEHILE0HY| 28,000 28,000 0
o= 6,250
iy 21,750
01 Al&H]| 28,000 28,000 0
O Xlota AEIZAF & HZ2A=T
28,000, 000& 28,000
& 6,250
o 21,750
2=ZDHA 279,363 525,342 245,979
= 200
o= 200
iy 278,963
SAXNE=S2H 2 279,363 525,342 N245,979
= 200
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A M
M ZNA
SR SAX 222 (S &)
NMEE =
A - FM . S(SH) - MEAIY - BES 04| AroH ‘Oﬂ/'q_ou Hlns2
== 200
o 278,963
EEFEN 35,663 24,562 11,101
101 2124d| 579 536 43
04 JIZtHI2E2 XS24+ 579 536 43
O +EQQYUAILD YHEY ol
48,2402 x621%23)| 579
201 LBH2HAY| 9,584 9,626 N2
01 At22teldl 7,316 8,006 690
O Letx=EH| 5,356
0 +ELEAILD SHMEH P2
100,000+ 10+ A 1,000
0 ANZEXE A2E 7Y 100,0003*35 300
FAQAEALD FEAA =42
100,000 * 1021 1,000
0 S=0lK EHAE
14,8008 * 2021 2%
0 Hstx Z2Oas K 2el
230,000& * 12& 2,760
O SEHI(BEXE H2FA)
7,000&*401%70A] 1,960
02 s32494| 2,268 1,620 648
O 2222 2 HMAl 2,268
0 HEIEX HAQHY RBRS
270270001122 2,268
202 O4H] 12,000 14,400 N2,400
01 2L 12,000 14,400 A2,400
O MHI(BHE XS 24=8l)
200,000& *401x12& 9,600
O GHI(A3X QIAAD=X)
100,000& %2021+ 12& 2,400
207 AN 13,500 0 13,500
01 HAE4Y| 13,500 0 13,500
O IIEEk2el NeHE =8 89
13,500, 000& 13,500
SSstaalae| 243,300 475,380 232,080
201 Let2AY| 28,900 28,900 0
01 AtR2t2lt| 21,700 21,700 0
O et8H| 21,700
0 SSHE ErsHE
35,000 %70 A +23] 4,900
0 SEEA HOEEFRU(USHS)
30,0002 *70JH Ax23] 4,200
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A M
M ZNA
SR SAX 222 (S &)
NMEE =
2A - - SR(3H) - MEAY - BES 04| AroH ‘Oﬂ/'q_ou Hlns2
0 S &7
70,0002 * 70002 * 23] 9,800
0 SE3EA JdAXAHE M
10, 000& *70IH A~ 700
0 SESEA B2 EX(HHEAL 28)
7,000&*1009H*35 2,100
02 32494l 7,200 7,200 0
O 2222 2 HMAl 7,200
0 SSSHEA M3
40,0002 %150 A+ 12& 7,200
307 2I2t01A 176,400 176,400 0
05 oI2tIEH2 176,400 176,400 0
O S=3Ea g2
210,000&x70H 2122 176,400
401 AlZHIZL L] 38,000 270,080 232,080
01 Al&H| 38,000 270,080 232,080
O 21013H&al Ald 8,000,000& *1JH 2~ 8,000
O Z2Z31aa! HH|[(ARREH)
300,000& * 10090 A% 13] 30,000
A0 ZANE 29 400 400 0
= 200
< 200
301 et A= 400 400 0
= 200
= 200
09 SHAIAHIE2AZ 400 400 0
O DIZtSHAZUAAICH EA A 400,000 400
= 200
T 200
ASHHD |22 1,877,949 2,189,235 311,286
= 3,000
= 3,900
= 1,871,049
AEEM Y| D] 2t 1,877,949 2,189,235 AN311,286
= 3,000
< 3,900
= 1,871,049
HEblddBA= 30,000 60,000 30,000
= 3,000
T 3,900
iy 23,100
301 LEtB A= 30,000 60,000 30,000
= 3,000
< 3,900
iy 23,100
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S A
K| ZH -
(=

&l

Pl
MEHD|S2te)

AEMgD] 2e|

[
$
P
rio

Sl

SA - ZH . GA(SH) - HRAY - B82S Ol &beH @Eiﬁ Hws2t
NEEENS] 30,000 60,000 A30,000
O Hyld$E2A2 1002 * 300,000kg 30,000
= 3,000
< 3,900
z 23,100
MEMYD| 4=H 214,191 200,918 13,273
101 Q1244 108,421 9,723 12,698
04 JIZtHI22NSE S 108,421 9,723 12,698
O SHAIIX a2 98,393
02123 48, 2402 *601x2492 72,071
0 =xtg 48,2402 %601%522 15,051
0 =002 87,122,00024 4. 5% 3,921
0 HALER 87,122,0002%3.035% 2,645
0 D22 87,122,000941.3% 1,133
0 AHHEEEZ 87,122,000 *4% 3,485
0 Lo QATsE 2,645,00024%3. 275% 87
O GHED| HtE FRT2Y SFFY| 212 10,028
02122 48,2402 %401 %442 8,491
0 =xtg 48,2402 %491 %2 386
0 =0I0i=2 8,877,000 %4 .5% 400
0 HAZER 8,877,0002*3.035% 270
0 NE2se 8,877,000 1.3% 116
0 AHHEEEZ 8,877,000 %4% 356
0 Lo QATSE 270,000 %3 275% 9
206 X2 H| 97,470 97,470 0
01 MH2H] 97,470 97,470 0
O =2 2SN 91,970
0 YEH(34) 2421%20,0000H 480
0 2erg(52) 2921%20,0000HK 580
0 LEeH=(104) 36250, 0000K 1,800
0 LBH2(104) (HAIR) 382%10,0000H 380
0 LEHZ(204) 5621%120, 0000 6,720
0 LBH2(20 4 ) (HAHR) 5824%20,0000K 1,160
0 LBr=(504) 12124%80,0000H 9,680
0 2LEH2100 4 OICH(PPZELH)  5504%120,0000H 66,000
0 222(1004 PPIZLY) 5502 %5, 0000K 2,750
0 328(5014) 12124%20,0000K 2,420
O S8ag MYDIZENZ 5,500
0 S48 3L 2924%50,0000H 1,450
0 S48 5L 3424%50,0000H 1,700
SA2 100 4724%50,0000H 2,350
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SA: SN
3 dEHD|=2C
Chol: MEMFD| 22 (=L
S - - BREH) - MRAR - BaS of vt o HI DS
301 Le2L=s 8,300 7,725 575
1 JIEt2a= 8,300 6,000 2,300
O MESE +T2H3 2 JoI3
20,000,000 *30% 6,000
O sebIMEEs 888Ul dd=s
2,300,000 2,300
HIIZESSXCIAE2E 1,633,758 1,928,317 A294,559
101 el24H] 70,844 83,817 A12,973
04 JIZtH2 2 RS2+ 70,844 83,817 A12,973
FU=SEG2A| 2 dEHY URY 49,200
0J=2s 48,2403 %321x249 36,036
0 =x=g 48,2403 %321x52 7,526
0 =2l= 43,562 ,000& %4 . 5% 1,961
0 H2EE= 43,562,000 *3.035% 1,323
0 1E8=28s 43,562,0002*1.3% 567
0 &HiEEE 43,562,000 4% 1,743
0 LI RALS= 1,323,000&*3.275% 44
O SEHDISSEHCIAE FUZAEUFS 16,401
0JlE= 48,2403 %1Q1x249 12,012
0 =Xt==¢ 48,2403 x1Q1x52& 2,509
0 =2z 14,521,0002 %4 . 5% 654
0 AHHEE= 14,521,000& +3.035% 441
0 1E8=28s 14,521,000 1.3% 189
0 AHEEE 14,521,000 *4% 581
0 LI RALS= 441,000&#3.275% 15
O UHgd F8Xs g2y 4,913
0JI2= 49,0003 x121x60& 2,940
0 =xt==¢ 49,0002 x1Q1x12& 588
0 =83 3,528,000& 4 .5% 159
0 2HEE= 14,521,000& %3.035% 441
0 ISEE= 14,521,000 *1.3% 189
0 AHEEE 14,521,000 *4% 581
0 RIEVIRYTE= 441,000&%3.275% 15
O HEE SAHAF s+
66,0003 +521x1= 330
201 deh= | 558,006 561,234 N3,228
01 Al 22| 79,208 79,479 NG
O SHI(BRALADER)
7,000 #721x704] 3,430
O Bt==ZH| 65,358
0 H2ESHEY 22 1,365
o AZEMAH 150 +3,0000K 450
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S A

Pl
MEHD|S2te)

Ha:
Chol: MEMD| 22 (=ECR-E))
S - - BREH) - MRAR - BaS of vt o HI DS
o F&JI 300,000& *23! 600
o mMlEFY 63,0003 54 315
0 RUBHINAY === 4,320
o MEsd 160,000&*12& 1,920
o OHE& 200,000&*12& 2,400
0 &ojete 2e|tiis==2 2,283
o HE& 190,200 %123 2,283
0 HEE =2SAe2 9,218
o BExES 400,200 %43] 1,601
0 BEFYURS 380,200&*12& 4,563
o KNot=3ArE 190, 780&*3J4 2-+43] 2,290
o HSHHMAIE 190,780% * 43 764
0 AIZESSHEE A== 29,572
o BEFEF 380,200 3 x4 2] 4,563
o HHEIIA 200,650& *33! 602
o E&EE 1,300, 200& 1270 2~ 15,603
o KNot=3ArE 160,580 %243 3,854
o Klgt OHEE ZA 1,650,000 *30H 24 4,950
0 FUSSALES(HI+S)7L
2,000 +53*3004 3,000
0 AYSSU(E,0tA3)
330,000 %123 3,960
0 AER2E 257 (OtA, Z2)
10,0002 x105+5IH+52] 2,500
0 e 3E+ REXdx 4
2,500,000&*12 2,500
0 dHIZESENeE 2ISSTL(LERIBS)
80,000 * 12552 4,800
0 HYI2(Hs) SRS =2
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